3-(6) TiHHKRET—% (IEE)

#F-3(6)-1
mERH %g%@ 1 23$¥%M4ﬂ 4-B
Kk - = i} 5 5
KR - 17.9 14.6 12.3 15. 4
KR - 18.4 19.4 17.3 20.0
R U LEEY 0.05 < 0.01 < 0.01 - < 0.01
T AREY 0.5 < 0.01 < 0.01 - < 0.01
tEw 0.1 < 0.01 < 0.01 - < 0.01
N7 a LMeE 0.5 < 0.05 < 0.05 - < 0.05
it/ L& 0.1 < 0.01 < 0.01 - < 0.01
TRk ER 0. 005 < 0.0005 [ < 0.0005 - < 0.0005
INDRZA=A==- S 0.3 < 0.002 < 0.002 - < 0.002
FhISrupTFL 0.1 < 0.0005 [ < 0.0005 - < 0.0005
Crun ARy 0.2 < 0.02 < 0.02 - < 0.02
Wik e 0. 02 < 0.0002 | < 0.0002 - < 0.0002
L2-YZumauxi 0. 04 < 0.004 < 0.004 - < 0.004
,1-¥YZupxTFLo 0.2 < 0.02 < 0.02 - < 0.02
VA1, 2-V7unxF L 0.4 < 0.04 < 0.04 - < 0.04
L1,1-hYyZoaxg 3 < 0.0005 [ < 0.0005 - < 0.0005
LL,2-hVZmuxzH 0. 06 < 0.006 < 0.006 - < 0.006
,3-YZ7unru~ly 0. 02 < 0.002 < 0.002 - < 0.002
R 0.1 < 0.01 < 0.01 - < 0.01
‘LML EY 0.1 < 0.01 < 0.01 - < 0.01
So R AW 8 < 0.1 < 0.1 - 0.3
135 FEEY 10 < 0.1 < 0.1 - 0.2
R A T re | es | s
KFEA AR (pH) 5.8~8.6 6.8 7.5 7. 8.2
M IRE R R E  (BOD) 25 1.0 < 1.0 1. 3.9
LRI EESR ER & (COD) 25 9.6 2.4 6. 1.8
T E & (SS) 70 4.7 < 2.0 14 < 2.0
n—~F U E 5 < 1.0 < 1.0 1.0 < 1.0
7 ) — VI 0.05 < 0.005 < 0.005 - 0. 006
kil 1 < 0.05 < 0.05 - < 0.05
fiiikee) 1 < 0.05 0.07 - < 0.05
TR fREER 1 < 0.05 < 0.05 - < 0.05
it~ o v 1 < 0.02 < 0.02 - < 0.02
VA=A 1 < 0.05 < 0.05 - < 0.05
R A B 3000 0 1. 3E+2 78 0
=y 1 < 0.05 < 0.05 - < 0.05
D 0.03 - - - -
FUT A 0. 06 - - - -
FANTNT 0.2 - - - -

HAL mg/0 (7272 L. pHIZEALZ: L, KIBEBEEUIE/ en®)
XFEREO [l 1T TRERN 2E,

P EHm3-90




#*-3(6)-2

A A > RiEAG

34 5 6 7
PN - i & i
RIE - 20. 0 26.9 11.1
7RI - 20. 4 27. 4 24.3
R U LEEY 0.05 < 0.01 - -
T AREY 0.5 < 0.01 - -
eyl 0.1 < 0.01 - -
N7 a LMeE 0.5 < 0.05 - -
it/ L& 0.1 < 0.01 - -
TRk ER 0. 005 < 0.0005 - -
INDRZA==3=- S 0.3 < 0.002 - -
A== 0.1 < 0.0005 - -
DY A=2=8 ¥ 2 0.2 < 0.02 - -
WKl rES 0. 02 < 0.0002 - -
L2-yZuuuxi 0. 04 < 0.004 - -
e A== A 0.2 < 0.02 - -
VA, 2-v/marzF L 0.4 < 0.04 - -
L1,I-hY ooz 3 < 0.0005 - -
LL,2-hYZumrxgy 0.06 < 0.006 - -
,3-Y7unraty 0. 02 < 0.002 - -
AV 0.1 < 0.01 - -
L ALEY 0.1 < 0.01 - -
So R AW 8 0.6 - -
135 FEEY 10 < 0.1 - -
VT Ve AN e T
R A T A L
KFEA AR (pH) 5.8~8.6 7.8 7.4 7.6
M RIRE R R E  (BOD) 25 5.6 1.4 1.0
{boPRR R Bk & (COD) 25 6.7 6.7 2.6
R E B (SS) 70 5.5 2.0 2.0
n—~% Y S 5 < 1.0 1.0 1.0
7= ) —/VHH 0. 05 < 0.005 - -
& 1 < 0.05 - -
G 1 < 0.05 - -
TR fRIEER 1 0.25 - -
AR~ T 1 0.33 - -
ZA=TA 1 < 0.05 - -
R T B 3000 1. OE+2 56 0
= 1 < 0.05 - -
D N 0.03 - - 0. 003
FUT AN 0. 06 - - 0. 006
FARTNT 0.2 - - 0.02

HAL mg/0 (7272 L. pHIZEALZ: L, KIBEBEEUIE/ en®)
XFEREO [l 1T TRERN 2E,

P EHR3-91




— B LE

X 2-A 2-B 8
PN - H 5 i
RIR - 8.0 11.8 13.1
7RI - 22.5 25. 8 28.9
R U LAY Bt &henwz AR At H -
T ACE Y B EhARnZ & Rl A -
eyl 0.05 < 0.01 < 0.01 -
N2 a LMeE 0.05 < 0.05 < 0.05 -
it/ L& 0.01 < 0.01 < 0.01 -
TRk ER 0. 005 < 0.0005 [ < 0.0005 -
[ A=R=5-0 P2 0.3 < 0.002 < 0.002 -
FRI/prTFLv 0.1 < 0.0005 | < 0.0005 -
DY A=2=8 ¥ 2 0.2 < 0.02 < 0.02 -
WKl rES 0.02 < 0.0002 | < 0.0002 -
Lo-Y7unxziy 0. 04 < 0.004 < 0.004 -
A== A 0.2 < 0.02 < 0.02 -
vZA-1,2-Y/7nuxF L 0.4 < 0.04 < 0.04 -
L1,I-hY ook 3 < 0.0005 | < 0.0005 -
LL,2-hYZmmrxzgy 0.06 < 0.006 < 0.006 -
,3-Y7upnraty 0.02 < 0.002 < 0.002 -
AV 0.1 < 0.01 < 0.01 -
LA EY 0.1 < 0.01 < 0.01 -
SoF AW 0.8 < 0.1 < 0.1 -
135 FEEY 10 < 0.1 < 0.1 -
- - A e s
oo, malean 100
KFEA AR (pH) 5.8~8.6 7.4 7.2 8.2
M IRE R R E (BOD) 15 2.2 32 10
{boPRR R BR & (COD) 15 9.2 41 13
FEYE & (SS) 35 2.5 43 8.
n—~~39 3 < 1.0 4.3 1.
7 x ) — VI 0. 005 < 0.005 0. 009 -
kil 1 < 0.05 < 0.05 -
High 1 0.05 < 0.05 -
TR fRIEER 0.3 < 0.05 0.07 -
Rt~ o v 0.3 < 0.02 < 0.02 -
ZA=TA 0.1 < 0.05 < 0.05 -
R T B 3000 6.8E+2 | > 1.0E+4 6. 3E+2
= 0.3 < 0.05 < 0.05 -
D N 0.03 - - -
T T A 0. 06 - - -
FARTNT 0.2 - - -

HAL mg/0 (72721, pHIZEALZ: L, KRIGEBEEUIIE/ en®)

MERHPO T HE) 1T THUEART 2R,

P FHm3-92




#-3(6)-4

= Pk FENo Pk e FHANo

MERH (Bt 10 (&) 9
K& - H - i
RIR - 14.2 - 13.7
7RI - 21.2 - 18.8
R U LEEY B Sz & - 0. 05 -
7 AEEY) B Enino & - 0.5 -
eyl 0.05 - 0.1 -
N2 a LMeE 0.05 - 0.5 -
MHEEW 0.01 - 0.1 -
TRk ER 0. 005 - 0. 005 -
[ A=R=5-0 P2 0.3 < 0.002 0.3 -
A A=0== 0.1 < 0.0005 0.1 -
DYA=2=8 ¥ 2 0.2 < 0.02 0.2 -
WKl rE 0.02 < 0.0002 0.02 -
L2-YZuuuxi 0. 04 < 0.004 0. 04 -
e A== 0.2 < 0.02 0.2 -
VA, 2-v/marzF L 0.4 < 0.04 0.4 -
LL,1-F)Zmmxz 3 < 0.0005 3 -
LL,2-hYZamrxzgy 0.06 < 0.006 0.06 -
,3-Y7upraty 0.02 < 0.002 0. 02 -
AV 0.1 < 0.01 0.1 -
L ALEY 0.1 - 0.1 -
SoRIEW 0.8 - 8 -
ERESI4e 10 - 10 -
VEe - A e s
KFEA AR (pH) 5.8~8.6 8.2 5.8~8.6 7.8
M IRE R R E  (BOD) 130 25 160 42
LRI EESR ER & (COD) 130 91 (160) 59
FEE R (SS) 160 39 200 38
n—~% Y S 3 6.4 - 2.1
7= /) —/)VIE 0. 005 - - -
kil 1 - 1 -
[k 1 - 1 -
TRFRVESR 0.3 - 1 -
Rt~ o v 0.3 - 1 -
ZA=TA 0.1 - 1 -
R T B 3000 6. 3E+3 3000 > 1.0E+4
=i 0.3 - 1 -
D N 0.03 - 0.03 -
FUT A 0. 06 - 0. 06 -
FA_RTNT 0.2 - 0.2 -

HAL mg/0 (72721, pHIZEALZ: L, KIGEBEEUIIE/ en®)
XFEREO [l 1T TRERN 2E,

P EHm3-93




3-() THEHKRET—% (2EE)

#F-3(7)-1

S g%%@ %%;JTNO
K& - =
SR - 16.2
KR - 18.7
BRI abLEY 0.05 < 0.01
7 AREY 0.5 < 0.01
e 0.1 < 0.01
N7 v LMeE 0.5 < 0.05
it/ L& 0.1 < 0.01
VI 0. 005 < 0.0005
INDRZA=A=3=- S 0.3 < 0.002
SRS rpmTFLL 0.1 < 0.0005
DY A=2=F ¥ 2 0.2 < 0.02
WK e 0. 02 < 0.0002
L2-YZumuxi 0. 04 < 0.004
L, 1I-YZ7nnxF Ly 0.2 < 0.02
VA, 2-v/marzF L 0.4 < 0.04
LL,lI-hY ooz g 3 < 0.0005
LL,2-hVZumuxzH 0. 06 < 0.006
,3-YZ7unra~ly 0. 02 < 0.002
AV 0.1 < 0.01
‘LA EY 0.1 < 0.01
SoFLEW 8 0.1
135 FEEY 10 < 0.1
T/EET 7‘/‘%:%45/5\%\ RIS 100 6.9
L&, HmBibew
KFEA AR (pH) 5.8~8.6 7.8
M IRE R R E (BOD) 25 11
{b2PR R R Bk & (COD) 25 8.3
TFE B & (SS) 70 5.3
n—~¥ S 5 < 1.0
7= ) —/VIH 0.05 0.011
kil 1 < 0.05
Hign 1 < 0.05
TR fREER 1 0.16
AR~ T 1 0. 06
ZA=TA 1 < 0.05
R T B S 3000 58
=y 1 < 0.05

BT mg/0 (72721, pHIZEEALZ L, KBS ERELIZME/ cn’)
EHO TCHE] X TERIER 289,

P rHm3-94



#*-3(7)-2
— s e
X 1-A 1-B 3

PN - H H H
SR - 10.0 13.4 15. 4
7RI - 18.9 23.7 32.7
R U LAY B Enenwz At H At H
T AREY B EhARnZ & Rl AR
eyl 0.05 < 0.01 < 0.01
A7 v LA 0.05 < 0.05 < 0.05
it/ L& 0.01 < 0.01 < 0.01
TRk ER 0. 005 < 0.0005 [ < 0.0005
INDRZA=A=3=- S 0.3 < 0.002 < 0.002
A== 0.1 < 0.0005 [ < 0.0005
DYA=3=8 ¥ 2 0.2 < 0.02 < 0.02
WKl rE 0.02 < 0.0002 | < 0.0002
L2-YZuuuxi 0. 04 < 0.004 < 0.004
e A== 0.2 < 0.02 < 0.02
VA-,2-V/7uuxF L 0.4 < 0.04 < 0.04
LL,I-hY ooz g 3 < 0.0005 [ < 0.0005
LL,2-hYZmampxgy 0. 06 < 0.006 < 0.006
,3-Yr7upraty 0.02 < 0.002 < 0.002
AV 0.1 < 0.01 < 0.01
‘LA EY 0.1 < 0.01 < 0.01
SoFEW 0.8 < 0.1 < 0.1
135 FEEY 10 < 0.1 < 0.1
Ve VT AN e T
KFEA AR (pH) 5.8~8.6 7.2 7.1 8.2
M IRE R R E  (BOD) 15 6.7 19 1.4
{boPRgR R B & (COD) 15 17 28 6.6
FEE R (SS) 35 7.0 10 2.9
n—~F Y YR 3 < 1.0 < 1.0 1.0
7= ) —/VHH 0. 005 < 0.005 < 0.005
kil 1 < 0.05 < 0.05
fiiikee) 1 < 0.05 < 0.05
TR fREER 0.3 0. 07 0.08
it~ o v 0.3 < 0.02 < 0.02
ZA=TA 0.1 < 0.05 < 0.05
R A B 3000 1. 4E+3 3. 5E+3 1. 9E+3
= 0.3 < 0.05 < 0.05

BT mg/0 (72721, pHIZEALZ L, KESEREEIZME/ en’)
EHO T HE] X TERIER 2F£9,

P FHm3-95




S TE Pk Ik FEHNo Pk e FHANo

- Cora% 5 (FH&) 4
K& - H - &
RIR - 14.6 - 15. 4
7RI - 21.6 - 13.6
R U LEEY B Sz & - 0. 05 -
7 AEEY) B Enino & - 0.5 -
eyl 0.05 - 0.1 -
N2 a LMeE 0.05 - 0.5 -
MHEEW 0.01 - 0.1 -
TRk ER 0. 005 - 0. 005 -
[ A=R=5-0 P2 0.3 < 0.002 0.3 -
A A=0== 0.1 < 0.0005 0.1 -
DYA=2=8 ¥ 2 0.2 < 0.02 0.2 -
WKl rE 0.02 < 0.0002 0.02 -
L2-YZuuuxi 0. 04 < 0.004 0. 04 -
e A== 0.2 < 0.02 0.2 -
VA, 2-v/marzF L 0.4 < 0.04 0.4 -
L1,I-hY ook 3 < 0.0005 3 -
LL,2-hYZamrxzgy 0.06 < 0.006 0.06 -
,3-Y7upraty 0.02 < 0.002 0. 02 -
AV 0.1 < 0.01 0.1 -
L ALEW 0.1 - 0.1 -
So R AW 0.8 - 8 -
135 FEEY 10 - 10 -
oo, malean 100 0-45 30
KFEA AR (pH) 5.8~8.6 7.4 5.8~8.6 7.4
M IRE R R E  (BOD) 130 14 160 22
LRI EESR ER & (COD) 130 83 (160) 40
FEE R (SS) 160 20 200 21
n—~% Y S 3 6.4 - 1.0
7= /) —/)VIE 0. 005 - - -
kil 1 - 1 -
[k 1 - 1 -
TRFRVESR 0.3 - 1 -
Rt~ o v 0.3 - 1 -
ZA=TA 0.1 - 1 -
R T B 3000 0 3000 3. 5E+3
=i 0.3 - 1 -

BT mg/0 (72721, pHIZEEALZ L, KIS EREEIZME/ cn’)
EHO TCHE] X TERIERN 2F£9,

P FHm3-96




- T/KRHEEE—E

#F-3(8)-1
HEHEH PrbE v BN IRE

KA — —
U (C) - —
BRI A (mg/0) 0.01 LA 0.001
BTV (mg/0) M Enenwo & 0.1
b (mg/0) 0.01 U 0. 005
VAV ZA =N (mg/0) 0.05 LA 0. 02
= (mg/0) 0.01 U 0. 005
FaKER (mg/0) 0. 0005 LA 0. 0005
T LK ER (mg/0) M Enenwo ke 0. 0005
PCB (mg/0) S nzenz 0. 0005
Y A=R=0 & (mg/0) 0.02 LA 0. 002
VUG R SR (mg/0) 0. 002 U 0. 0002
L,2-YsmuxH (mg/0) 0. 004 LA 0. 0004
L1-YZupxzFLo (mg/0) 0. 02 T 0. 002
VA-l,2-v/maRrzF L (mg/0) 0.04 LA 0. 004
LL,I-hVZmuxzH (mg/0) 1 T 0. 0005
LL2-hUVrmampx=x (mg/0) 0. 006 LA 0. 0006
INDRZA===- S (mg/0) 0.03 T 0. 002
FrhSumzFL (mg/0) 0.01 LA 0. 0005
L,3-YZ7unraly (mg/0) 0. 002 T 0. 0002
FAAZN (mg/0) 0. 006 LAF 0. 0006
DA (mg/0) 0. 003 T 0. 0003
FARHNT (mg/0) 0.02 LA 0. 002
R (mg/0) 0.01 T 0. 001
L (mg/0) 0.01 LI 0. 002
HE[ =6 (mg/0) — 0. 05
Mg ATE SR (mg/0) — 0. 05
fEEATEE SR R VIR (ng/0) 10 BLF 0. 10
5o (mg/0) 0.8 LIF 0.08
XS (mg/0) 1 BT 0. 02
BRI R (mS/m) — —
KA A R 5.8-8.6 (FEAMALHE) —
K (C) - —
BR — —
4] — —

KT LFAREIL, KRB BRIE L7 L EOHRMET D,

P EHm3-97




- M TFKIRRERRAET -2

#-3(9)-1
Hh sNo (&)
HIEEH 57 58 59 60
4 JERT JE N

ek B H20. 10. 21 H20. 10. 30 H20. 10. 29 H20. 10. 29
KA I 2 754 5
KR (C) 24.3 15. 2 22.3 19.2
RIT A (mg/0) | < 0.001 < 0.001 < 0.001 < 0.001
BT (mg/0) A A A A
£ (mg/0) | < 0.005 < 0.005 < 0.005 < 0.005
AV /A=A (mg/0) | < 0.02 < 0.02 < 0.02 < 0.02
= (mg/0) | < 0.005 < 0.005 < 0.005 < 0.005
Tk R (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
T L LK ER (mg/0) - - - -
PCB (mg/0) A A A A
DA=8=8 & S (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
W R ES (mg/0) | < 0.0002 < 0.0002 < 0.0002 < 0.0002
L2-v/amuxy (mg/0) | < 0.0004 < 0.0004 < 0.0004 < 0.0004
L1-YZuragx=FL (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
v Z-1,2-YVr7muxF Ly (ng/0)| < 0.004 < 0.004 < 0.004 < 0.004
LL1-hVZpeoxH (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
LL2-hUVZmamrx=x (mg/0) | < 0.0006 < 0.0006 < 0.0006 < 0.0006
Ny Zoo=FL o (mg/0) | < 0.002 < 0.002 0. 002 < 0.002
FrFrunz=FLr (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
,3-Yr7mrrua~y (mg/0) | < 0.0002 < 0.0002 < 0.0002 < 0.0002
FT A (mg/0) | < 0.0006 < 0.0006 < 0.0006 < 0.0006
AN (mg/0) | < 0.0003 < 0.0003 < 0.0003 < 0.0003
FFRBNVT (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
AV (mg/0) | < 0.001 < 0.001 < 0.001 < 0.001
L (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
iHma e (mg/0) 3.4 < 0.05 7.8 2.7
AN L2 55 (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
HEME R R R OV R EE R (ng/0) 3.4 < 0.10 7.8 2.7
5o (mg/0) | < 0.08 < 0.08 < 0.08 < 0.08
S (mg/0) | < 0.02 < 0.02 < 0.02 0.03
BB R (mS/m) 26 26 32 22
KFA A PR 7.3 7.7 7.0 6.8
KR (C) 17.6 18.0 18.2 17.1
B R i 5 e B fHE B
4] 7 1) e 5375 #0171 5375

EHO TCHE] X TR 289,

P rHm3-98




#£-3(9)-2

HiSNo (B 8D HifiNo (X =)
HEHEH 61 62 0278 0288
FH FH FH THEEA
£KH H20. 10. 30 H20. 10. 30 H20. 10. 30 H20. 10. 30
PN & = i 5]
KU (C) 17.3 18. 4 18.5 19.0
RIT A (mg/0) | < 0.001 < 0.001 < 0.001 < 0.001
BT (mg/0) A A A A
& (mg/0) | < 0.005 < 0.005 < 0.005 < 0.005
Y[ /A=A (mg/0) | < 0.02 < 0.02 < 0.02 < 0.02
T (mg/0) | < 0.005 < 0.005 < 0.005 < 0.005
Tk ER (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
T VX LKER (mg/0) - - - -
PCB (mg/0) N A A A
DA =R= . (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
R ES (mg/0) | < 0.0002 < 0.0002 < 0.0002 < 0.0002
,2-Y/mauxyy (mg/0) | < 0.0004 < 0.0004 < 0.0004 < 0.0004
,1-¥/muexFLv (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
TA-1,2-Y /v F Ly (mg/0)| < 0.004 < 0.004 < 0.004 < 0.004
LL,1-fU sk (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
LL,2-hUZmuaxXy (mg/0) | < 0.0006 < 0.0006 < 0.0006 < 0.0006
KN)Zoox=FL (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
VAl N/ = =t Rl P (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
,3-Yrumu oy (mg/0) | < 0.0002 < 0.0002 < 0.0002 < 0.0002
F 7T A (mg/0) | < 0.0006 < 0.0006 < 0.0006 < 0.0006
e (mg/0) | < 0.0003 < 0.0003 < 0.0003 < 0.0003
FF BT (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
AV (mg/0) | < 0.001 < 0.001 < 0.001 < 0.001
L (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
EER 2SR (mg/0) 5.8 < 0.05 < 0.05 < 0.05
gAY R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
HEAME R R e NI tE 2 E  (ng/0) 5.8 < 0.10 < 0.10 < 0.10
BNE (mg/0) | < 0.08 < 0.08 < 0.08 < 0.08
ERE (mg/0) 0.03 < 0.02 < 0.02 < 0.02
ERARE R (mS/m) 49 27 38 33
KFA A PR 6.6 7.9 7.8 7.9
KR (C) 18.0 16.7 18.2 17.5
B i 5 fifb ks8R JIHEER - P8 g B
S8 e 5375 5375 1) WEEY, DD Y #0375 1)

XKEHO T HE) 13 TBUERT) 2%,

P EHm3-99




#-3(9)-3

HifSNo (Awir=a)
HEEH 0298 1208 1218 1228
ZH ZEH 1RK B4

£KH H20. 10. 30 H20. 10. 30 H20. 10. 29 H20. 10. 29
PN 5 i 5 i
KU (C) 19.0 19.8 18. 4 18.2
RIT A (mg/0) | < 0.001 < 0.001 < 0.001 < 0.001
BT (mg/0) A K A K
& (mg/0) | < 0.005 < 0.005 < 0.005 < 0.005
Y[ /A=A (mg/0) | < 0.02 < 0.02 < 0.02 < 0.02
T (mg/0) | < 0.005 < 0.005 < 0.005 < 0.005
ek gR (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
T VX LKER (mg/0) - - - -
PCB (mg/0) N K A K
DA =R= . (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
R ES (mg/0) | < 0.0002 < 0.0002 < 0.0002 < 0.0002
,2-Y/mauxyy (mg/0) | < 0.0004 < 0.0004 < 0.0004 < 0.0004
,1-¥/muexFLv (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
TA-1,2-Y /v F Ly (mg/0)| < 0.004 < 0.004 < 0.004 < 0.004
LL,1-fU sk (mg/0) [ < 0.0005 < 0.0005 < 0.0005 < 0.0005
LL,2-hUZmuaxXy (mg/0) | < 0.0006 < 0.0006 < 0.0006 < 0.0006
KN)Zoox=FL (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
VAl N/ = =t Rl P (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
,3-Yrumu oy (mg/0) | < 0.0002 < 0.0002 < 0.0002 < 0.0002
F 7T A (mg/0) | < 0.0006 < 0.0006 < 0.0006 < 0.0006
D (mg/0) | < 0.0003 < 0.0003 < 0.0003 < 0.0003
FF BT (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
AV (mg/0) | < 0.001 < 0.001 < 0.001 < 0.001
L (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
EER 2SR (mg/0) 6.3 0.88 4.3 2.5
gAY R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
HEAME R R e NI tE 2 E  (ng/0) 6.3 0.93 4.3 2.5
BNE (mg/0) | < 0.08 < 0.08 < 0.08 < 0.08
ERE (mg/0) 0. 02 0. 02 < 0.02 0.03
BB R (mS/m) 32 21 23 18
KFA A PR 7.2 7.0 7.1 6.7
KR (C) 21.2 21.0 16.9 17.6
B fHE B R i 5. fHE B
S8 2375 #0375 1) 2375 #0375 1)

XKEHO T HE) 13 TBUERT) 2%,

EEHm3-100




#£-3(9)-4

HifSNo (Awir=a)
B EE H 1238 1248 1258 1268
FE IS al = H

£KH H20. 10. 29 H20. 10. 29 H20. 10. 29 H20. 10. 21
PN 5 754 5 i
KU (C) 21.9 21.1 21.8 21.5
RIT A (mg/0) | < 0.001 < 0.001 < 0.001 < 0.001
BT (mg/0) A A A A A A
& (mg/0) | < 0.005 < 0.005 < 0.005 < 0.005
Y[ /A=A (mg/0) | < 0.02 < 0.02 < 0.02 < 0.02
T (mg/0) | < 0.005 < 0.005 < 0.005 < 0.005
ek gR (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
T VX LKER (mg/0) - - - -
PCB (mg/0) N A A A A A
DA =R= . (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
R ES (mg/0) | < 0.0002 < 0.0002 < 0.0002 < 0.0002
,2-Y/mauxyy (mg/0) | < 0.0004 < 0.0004 < 0.0004 < 0.0004
L1-YZuagxFLv (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
TA-1,2-Y /v F Ly (mg/0)| < 0.004 < 0.004 < 0.004 < 0.004
LL,1-fU sk (mg/0) [ < 0.0005 < 0.0005 < 0.0005 < 0.0005
LL,2-hUZmuaxXy (mg/0) | < 0.0006 < 0.0006 < 0.0006 < 0.0006
KN)Zoox=FL (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
VAl N/ = =t Rl P (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
,3-Yrumu oy (mg/0) | < 0.0002 < 0.0002 < 0.0002 < 0.0002
F 7T A (mg/0) | < 0.0006 < 0.0006 < 0.0006 < 0.0006
D (mg/0) | < 0.0003 < 0.0003 < 0.0003 < 0.0003
FF BT (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
AV (mg/0) | < 0.001 < 0.001 < 0.001 < 0.001
L (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
EER 2SR (mg/0) 1.6 3.4 3.5 0.59
gAY R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
HEAME R R e NI tE 2 E  (ng/0) 1.6 3.4 3.5 0.64
BNE (mg/0) | < 0.08 < 0.08 < 0.08 < 0.08
ERE (mg/0) | < 0.02 < 0.02 < 0.02 < 0.02
BRI R (mS/m) 21 26 27 19
KFA A PR 6.7 6.7 6.8 6.8
KR (C) 17.4 17.6 18.5 21.9
B fHE B 'R i 5 fHE B
S8 5375 #0375 1) 5375 37 1)

XKEHO T HE) 13 TBUERT) 2%,

EBHm3-101




#£-3(9)-5

HifSNo (Awvir=a)
HEEH 1277 1278 1287 1288
T KT =H THKER TIA

£KH H20. 10. 21 H20. 10. 21 H20. 10. 21 H20. 10. 21
PN 5 i 5] i
KU (C) 22.8 21.7 21.7 23.6
RIT A (mg/0) | < 0.001 < 0.001 < 0.001 < 0.001
BT (mg/0) A A A A
& (mg/0) | < 0.005 < 0.005 < 0.005 < 0.005
Y[ /A=A (mg/0) | < 0.02 < 0.02 < 0.02 < 0.02
T (mg/0) | < 0.005 < 0.005 < 0.005 < 0.005
ek gR (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
T VX LKER (mg/0) - - - -
PCB (mg/0) N A A A
DA =R= . (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
R ES (mg/0) | < 0.0002 < 0.0002 < 0.0002 < 0.0002
,2-Y/mauxyy (mg/0) | < 0.0004 < 0.0004 < 0.0004 < 0.0004
L1-YZuagxFLv (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
TA-1,2-Y /v F Ly (mg/0)| < 0.004 < 0.004 < 0.004 < 0.004
LL,1-fU sk (mg/0) [ < 0.0005 < 0.0005 < 0.0005 < 0.0005
LL,2-hUZmuaxXy (mg/0) | < 0.0006 < 0.0006 < 0.0006 < 0.0006
KN)Zoox=FL (mg/0) | < 0.002 0.003 < 0.002 < 0.002
VAl N/ = =t Rl P (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
,3-Yrumu oy (mg/0) | < 0.0002 < 0.0002 < 0.0002 < 0.0002
F 7T A (mg/0) | < 0.0006 < 0.0006 < 0.0006 < 0.0006
D (mg/0) | < 0.0003 < 0.0003 < 0.0003 < 0.0003
FF BT (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
AV (mg/0) | < 0.001 < 0.001 < 0.001 < 0.001
L (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
EER 2SR (mg/0) 10 6.0 6.1 0.90
gAY R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
HEAME R R e NI tE 2 E  (ng/0) 10 6.0 6.1 0.95
BNE (mg/0) | < 0.08 < 0.08 < 0.08 < 0.08
ERE (mg/0) | < 0.02 < 0.02 < 0.02 < 0.02
BRI R (mS/m) 30 28 24 30
KFA A PR 7.0 7.0 6.7 7.0
KR (C) 19.9 18.1 17.5 19.5
B fHE B 'R i 5. fHE B
S8 2375 #0371 5375 07 1)

XKEHO T HE) 13 TBUERT) 2%,

EEHm3-102




#-3(9)-6

HiENo (A vz EIHK)
HEHEH 1297 J&301 J&3202

MR iliVN =M
K H H20. 10. 21 H21.2.19 H21.2.19
PN i i i
KR (C) 23.8 - -
7RI T A (mg/0) | < 0.001 - -
BTV (mg/0) A - -
& (mg/0) | < 0.005 - -
A 7= (mg/0) | < 0.02 - -
fitts= (mg/0) | < 0.005 - -
Tk ER (mg/0) | < 0.0005 - -
T L LK ER (mg/0) - - -
PCB (mg/0) A - -
DA =R= T (mg/0) | < 0.002 - -
DAk iR 55 (mg/0) | < 0.0002 - -
L2-YZuaupxzH (mg/0) | < 0.0004 - -
,1-YZupxTFLy (mg/0) | < 0.002 - -
vA-1,2-YZ7aaxzF Ly (ng/0)| < 0.004 - -
LL,1-FUZpooxxy (mg/0) | < 0.0005 - -
LL,2-hUZmuaxXy (mg/0) | < 0.0006 - -
A= R S P (mg/0) | < 0.002 - -
T I F L (mg/0) | < 0.0005 - -
1,3~y ra~y (mg/0) | < 0.0002 - -
FU T L (mg/0) | < 0.0006 - -
e (mg/0) | < 0.0003 - -
FARHINT (mg/0) | < 0.002 - -
R (mg/0) | < 0.001 - -
L (mg/0) | < 0.002 - -
EEA TSR (mg/0) 27 - -
Mg RAPE & R (mg/0) | < 0.05 - -
HEETEE B R O E =R (ng/0) 27 28 12
BT (mg/0) | < 0.08 - -
ERES (mg/0) | < 0.02 - -
ERURE (mS/m) 57 65 35
KFA A PR 6.7 6.8 6.8
KR (C) 18.5 16.5 16.5
B fHE B - -
S8 e 5375 - -

XEBRO T HE 13 TBUERT) 25#£7,

EEHm3-103




#£-3(9) -7

HigNo  (E#IE=%2VU 1 7)
HEHEH 107 108 109 110
Fa85-31-2 R4l L E3012-3 | JEMET4-12-11

K H H20. 10. 29 H20. 10. 29 H20. 10. 21 H20. 10. 30
PN i 5] i &
KU (C) 22.6 18.7 25. 6 15.8
RIT A (mg/0) - - - -
BT (mg/0) - - - -
£ (mg/0) - - - -
AV R = 20 (mg/0) - - - -
fits& (mg/0) - - - -
Tk ER (mg/0) - - - -
T VX LIKER (mg/0) - - - -
PCB (mg/0) - - - -
/A =0= 8 (mg/0) - - - -
DAk iR 55 (mg/0) - - - -
L,2-rv/mruxH (mg/0) - - - -
L1-Y/aagxFLv (mg/0) - - 0.003 -
vA-1,2-Y7uaxF L (ng/0) - - 0.021 0. 044
LL,I-hUZmpxi (mg/0) | < 0.0005 - 0.0010 -
LL,2-hUZmaxXy (mg/0) - - - -
KN)Zoox=FL (mg/0) 0. 002 0.091 0.21 0.003
ThI7/muF L (mg/0) 0.028 - < 0.0005 -
,3-vyrmura~y (mg/0) - - - -
F T A (mg/0) - - - -
ey (mg/0) - - - -
FANHNT (mg/0) - - - -
NPy (mg/0) - - - -
L (mg/0) - - - -
HER SR (mg/0) - - - -
gAY R (mg/0) - - - -
HEATEE B R O E =R (ng/0) - - - -
So# (mg/0) - - - -
ERES (mg/0) - - - -
ERARE R (mS/m) 25 15 62 24
IKFBA A PR 7.2 7.5 6.9 7.6
KR (C) 17.4 18.8 18.9 18.2
B fHE B R i 5 g B
P45 3% T, S Y a3 a7

XEHO T HE 13 TBUERT) #3#£7,

EEHm3-104




3-(10) EF TXMME D T KKERAET — 4%

FOK A k2045 A 27 H 7-3(10)-1
HisNo | FrfEHs M) ZwvwxFLy (FhI77vpFlL v VY /A=A
4 B4 0.018 0. 025 <002
4-2 B4 0.016 0. 021 <002
5 B4 0. 022 0. 0031 0.06
11 B4 < 0.002 0. 0067 <002
13 B4 0.10 0. 023 0. 04
13-2 B4 < 0.002 < 0.0005 <002
20 B4 < 0.002 < 0.0005 <002
24 B4 0. 036 0. 0057 <002
27 B4 0. 030 0. 0046 <002
33 B4 0.24 < 0.0005 <002
33-2 B4 0. 002 < 0.0005 <002

PrET AL UE 0.03 0.01 0.05
E i T RRAE 0. 002 0. 0005 0. 02
HAL mg/0
MERO [CHE) T TEER 2£3,

OB : FE204-8 H 19 H #-3(10)-2
HiSNo | FT{EHE NV ZvpxFLy |FhI7/pRZF LY AR =10
4 B4 0. 025 0.034 < 0.02
4-2 B4 0. 023 0. 029 < 0.02
5 B4 0. 024 0. 0031 < 0.02
7 B4 0. 028 0. 0022 < 0.02
11 st < 0.002 0.014 < 0.02
13 pist 0. 086 0.018 0.02
13-2 B4 < 0.002 < 0.0005 < 0.02
20 B4 0. 056 0.0038 0.02
24 B4 0. 032 0. 0052 < 0.02
27 B4 0. 038 0. 0055 < 0.02
33 pist 0.21 < 0.0005 < 0.02
33-2 st < 0.002 < 0.0005 < 0.02

PRETALUE 0.03 0.01 0. 05
B T BRAE 0. 002 0. 0005 0.02
HEAL  mg/0

MEPO T HE) 13 TEYERNG ) 2F£T,

EEHm3-105




FKHE  ERE204E11H 21 A #-3(10)-3
HENo | FTEH cN)ZmexFLy |FhI/runF L VAV iz =N
4 B4 0.017 0. 024 < 0.02
5 B4 0.019 0. 0028 < 0.02

11 B4 < 0.002 0. 0070 < 0.02
13 B4 0. 054 0.011 0. 02
13-2 B4 < 0.002 0. 0007 < 0.02
20 B4 0. 037 0. 0026 < 0.02
20-3 B4 0. 003 < 0.0005 < 0.02
24 B4 0. 021 0. 0033 < 0.02
27 B4 0. 022 0.0031 < 0.02
33 B4 0.025 < 0.0005 < 0.02
33-2 B4 < 0.002 < 0.0005 < 0.02

T B SV 0. 03 0. 01 0. 05
E i T RRAE 0. 002 0. 0005 0. 02
HAL mg/0
MEPO TCHME 13 IERW 287,

BKH : FER21IF2H6H 7#<-3(10)-4
HENo | FTEH cN)ZmexFLy |FhI/runF L VAV ZA =N
4 B4 0. 024 0. 034 < 0.02
5 B4 0.014 0. 0023 < 0.02

11 B4 < 0.002 0. 0058 < 0.02
13 B4 0. 082 0.017 < 0.02
13-2 B4 < 0.002 < 0.0005 < 0.02
20 B4 0. 055 0. 0040 < 0.02
20-3 B4 0. 031 < 0.0005 < 0.02
24 B4 0.031 0. 0049 < 0.02
27 B4 0. 027 0. 0037 < 0.02
33 B4 0.10 < 0.0005 < 0.02
33-2 B4 < 0.002 < 0.0005 < 0.02

PrET AL E 0.03 0.01 0.05
E i T RRAE 0. 002 0. 0005 0. 02
HAL mg/0

XEBRO T HAE 13 TBUERT) 2#5#£7,

EEHm3-106




3-(11) NERT 1 X 3t FAKKERET — 4

KB : FE204TH24H, 8H19H #-3(11)-1
No | FTTEHL Mozl AVZALES A% Yi-1, 2=V JunzFLy | 1,1, 1=} /nuzhy
1 B4 0.035 0. 029 0.012 0.0018
2 B4 0. 021 0. 082 0. 025 < 0.0005
3 B4 0. 025 0. 034 < 0.004 < 0.0005
4 B4 0. 086 0.018 0.028 0. 0054
5 B4 0. 037 0. 0066 0.012 0. 0025
6 | #kr 0. 024 0.17 0. 062 < 0.0005
8 It FH 0. 034 0. 0031 0.015 0.0018
BREE AL UE 0.03 0.01 0. 04 1
BT BRE 0. 002 0. 0005 0. 004 0. 0005
HAL mg/0

FEhO < EE) 1 TEERN 2%,
$No3. NodlL e LM MENFIE O/ TEE

FOKA : FR2142A6H, 2A19H #-3(11)-2
No | FTTEH M Jnnxfiy 7N enzly Yi-1, 2=V JunzFLy | 1,1, 1-p)/nuzhy
1 B4 0.015 0.016 0. 007 0. 0006
2 B4 < 0.002 0. 035 0.012 < 0.0005
3 B4 0. 024 0. 034 0.010 < 0.0005
4 B4 0. 082 0.017 0. 029 0. 0048
5 B4 0.018 0. 0035 0. 006 0. 0010
6 | #kr 0. 004 0. 086 0. 021 < 0.0005
8 It FH 0.023 0. 0023 0.011 0. 0011
BRBE AL YE 0.03 0.01 0. 04 1
BT R 0. 002 0. 0005 0. 004 0. 0005
HAL mg/0

FEhO < EE) 1 TEERN 2%,
$No3. NodlL e LM MENFE DR TEE

EEHm3-107






